Operations On Algebraic Expressions
Ex 6C

Q1

Answer:
(i) 24x2y° by 3xy

243%y°
3zy

= (3)E e

= Bxy’.

Therefore, the quotient is 8xy2.
(i) 36xyz2 by -9xz

36zyz”
Ozz

= (%)@ e e

= —dyz

Therefore, the quotient is —4yz.

(iif)
—T122%% 2 by — 122yz
?2:33,!2::
12xyz
= (2) @ e )E )
= Gxy

Therefore, the quotient is 6xy.

(iv) -56mnp2 by Tmnp

S6mnp”

Tmnp

() e 6

= —8p

Therefore, the quotient is —-8p.

Q2

Answer :

(i) 5m3 - 30m? + 45m by 5m

(5m3 —30m? + 45m) = 5m
sm® 3hm? A5m

= m  Im T m

=m? —6m + 0
Therefore, the quotient is m2 — 6m + 9.

(i) 8x2y2 - 6xy2 + 10x2) by 2xy

(8229'2 — 6zy? + 10:!:2';;3) + 27y

sriy? 6zy? 10z2%?

2zy 2ry 2ry
= dzy — 3y + Bxy®

Therefore, the quotient is 4xy — 3y + 5xy2.



(iit) 9x2y — 6xy + 12xy2 by — 3xy

(E}mzy — fxy + 123:3,-'2) +~ —3zy
9rly _ Gzy 12y?
Jry Jry + dry

= -3z + 2 —4y

Therefore, the quotient is —3x + 2 — 4y

(iv) 12x* + 8x3 - 6x2 by — 2,2

Q3 (12:‘ + 82% — &zﬂ) = 22?243
Answer: 1224 art 6z’
T R e

(s (-2 T

iant ic —Ex2 —
X 25.\:3—4x+4ix 2 Therefore the quotient is —6x= — 4x + 3.

- 2x
-+
2x+4
—2x+4
+  —
o

Therefore, the quotient is (x — 2) and the remainder is 0.

Therefore, the quotient is -2 and the remainder is 0.

Q5

Answer :

(¥2+12% +35) by (x+7)

x+7jx2+ 12 + 35fx+5
o4 T

Sx+ 35
Sx+ 35

£

Therefore, the quotient is ( + 5) and the remainder is 0.

Answer:
3t 25 15x7 4 x—6i5x—3
15x% + 10x
]
9¢—06
+ o+
b

Therefore, the quotient is (5 — 3) and the remainder is 0.

Q7

Answer:

Tx—9 I 14x% — 53 + 45f1f—5
1437 — 18x

—35x+45
—35x+ 45

*

Therefore. the quotient is (2z — 5) and the remainder is 0.

Q8



Answer:
2x-5 J 6x% —31x + 47 i3.r—8
6x” — 15x

—lox +47
l6x +40
+ —

7

Therefore, the quotientis (3z — 8) and the remainder is 7.

Q9

Answer:

Zt'3)1r‘+ X Sx 2(-t3—x—l

2x% + 32
—2x% — 5x
2x7 - 5x
i i
—2x-2
—2x-3
+  +

1
Therefore, the quotient is (2% — z — 1) and the remainder is 1.

Q10

Answer:

Therefore, the guotient is z2-x+1 and the remainder is 0.

Q11

Answer:

.\.“:+,'L'+]) M2+ 2+ 4 (x:—.}_r-“l
R R S R

— 3 e x
— 3t -3 - 3x
+ + o+

At +4x+4a
ax + 4y + 4

=

Therefore, the quotient is ( x2 - 3x + 4) and remainder is 0.

Q12

Answer :

_@_5_1-+6) o+ 1lx-6 (r—l

- St + 6

- + —
— 1 +5¢—6
—1x*+5x—6

x

Therefore, the quotient is (x-1) and the remainder is 0.

Q13



Answer :

X —3x+ 4) Sxt 1207+ 120+ 13 [Sx+ 3
X — 1527+ 20x

I —8x+13

3 -9x+12
_ 4+
x+1

Therefore, the quotient is ( 5x+ 3) and the remainder is (x + 1).

Q14

Answer :

20 3x+5) 26— 5xl+ 8e— 5 (x 1
27— 3xT+ Sx

— 23+ 3x -5
-2+ 3x-5
+ +

x

Therefore, the quotient is (x-1) and the remainder is 0.

Q15

Answer:

2+ x— IJ 8t + 10x — 527 — 4x + 1(41'3+3x—2
8t + 4yt | 4x7

6 — xt—dx+1
6+ 33 - 3x
+
47— x+ 1
—4x? - 2x+2
+ 4
x—1

Therefore, the quotient is ( 4x2+ 3x -2) and the remainder is ( x-1).



